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1101 | K48 'S 25 250 0 250 10 0 0 0 1620 0 1512
& 25 250 0 250
NB|FEFEAS [EE 188 1880 0 1880 10 0 0 0 2160 0 648
& 190 1900 0 1900
1201[83% % 51 765 0 765 15 0 0 0 1296 0 864
& 51 765 0 765
1203[F ¥Ry [EH 100 1000 0 1000 10 0 0 0 648 0 594
B30 50 750 0 750 15 0 0 0 0 756 0
EE 14 140 0 140 10 0 0 0 0 540 0
ED 196 2210 0 2210
1205[IF5NAE Gb 148 136 0 136
1207| B & [&0) 1084 155 135 20
1209[B & Bl 1 3 0 3 3 0 0 0 0 1944 0
& 6 18 0 18
1301 [HF mE 10 20 0 20 2 0 0 0 972 0 864
e 2 10 0 10 5 0 0 0 0 1944 0
= E 160 48 0 48 0.3 0 0 0 0 97 0
=5 9 45 0 45 5 0 0 0 1944 0 1296
(&) 222 318 0 318
1311[FRE EE 52 312 312 0 6 1998 0 432 0 0 0
EES 115 460 0 460 4 0 0 0 1188 0 648
Eh 197 892 312 580
1321 |81 mE 42 210 0 210 5 0 0 0 2376 0 1728
BiE 110 550 0 550 5 0 0 0 2484 0 2160
(&) 152 760 0 760
1331 [MFBe  [AFS T 30 300 0 300 10 0 0 0 0 2808 0
(&) 45 450 0 450
13B1E—<>  [XH 330 50 0 50 0.15 0 0 0 113 0 108
(&) 330 50 0 50
1353[ Tk =X 90 9 0 9 0.1 0 0 0 0 184 0
(&) 90 9 0 9
1355|445 ERE 240 24 0 24 0.1 0 0 0 0 92 0
ERE 36 108 0 108 0 0 0 0 2268 0
Eh 276 132 0 132
1361|R/ba>  |ZH0 25 125 0 125 5 0 0 0 1620 0 1404
Eh 45 225 0 225
1513[A—94> [BER 1 10 0 10 10 0 0 0 0 1404 0
[E)) 1 10 0 10
1541 | E& EE 619 6190 0 6190 10 0 0 0 1404 0 432
Eh 619 6190 0 6190
1603[)L)— [RE 7 70 0 70 10 0 0 0 3240 0 2916
Eh 7 70 0 70
1609|7Aval) |EH 30 180 0 180 6 0 0 0 3564 0 2160
Eh 30 180 0 180
1611[LBR E% 10 100 0 100 10 0 0 0 1620 0 1404
Gh 10 100 0 100
1612[ =L A2R |[EH 10 50 0 50 5 0 0 0 864 0 648
Gh 10 50 0 50
1627[2=k=F _[&JI 120 24 0 24 0.2 0 0 0 140 0 135
S 54 162 0 162 3 0 0 0 1512 0 1296
(&) 440 264 0 264
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1705| T A= =0 630 50 0 50 0.08 0 0 0 0 108 0
& 634 66 0 66
1803 | EHEE =) 300 30 0 30 0.1 0 0 0 0 125 0
S 150 30 0 30 0.2 0 0 0 0 77 0
GhH 900 105 0 105
1807|#8E =% 100 10 0 10 0.1 0 0 0 0 49 0
E% 1200 240 0 240 0.2 0 0 0 59 0 56
EF 390 117 0 17 0.3 0 0 0 86 0 59
GhH 1690 367 0 367
1809[L&HL EF 150 15 0 15 0.1 0 0 0 0 49 0
% 1200 240 0 240 0.2 0 0 0 84 0 76
& 1350 255 0 255
* SFEET * 15399 30504 759 29745
2701[7—ILR |8 1 9 0 9 9 0 0 0 0 8640 0
(&) 1 9 0 9
* S FAET * 2 18 0 18




